
Nuclear Transformations

Fusion:

13𝐻 + 12𝐻 → 24𝐻𝑒 + 01𝑛 + 𝐸𝑛𝑒𝑟𝑔𝑦

12𝐻 + 12𝐻 → 13𝐻 + 𝑝+ + 𝐸𝑛𝑒𝑟𝑔𝑦

23𝐻𝑒 + 23𝐻𝑒 → 24𝐻𝑒 + 2𝑝+ + 𝐸𝑛𝑒𝑟𝑔𝑦

Fission:

01𝑛 + 92235𝑈 → 56141𝐵𝑎 + 3692𝐾𝑟 + 301𝑛 + 𝐸𝑛𝑒𝑟𝑔𝑦

01𝑛 + 511𝐵 →  37𝐿𝑖3+ + 24𝐻𝑒2+ + 𝐸𝑛𝑒𝑟𝑔𝑦

Determine the missing part of the nuclear transformations below and classify it as a
fission or fusion reaction:

01𝑛 + 92235𝑈 → 3790𝑅𝑏 + 201𝑛 +  ?

01𝑛 + 92235𝑈 → 3890𝑆𝑟 + 401𝑛 +  ?

714𝑁 + 24𝐻𝑒 → 11𝐻 +  ?

88226𝑅𝑎 →  86222𝑅𝑛 +  ?

92233𝑈→ 90229𝑇ℎ +  ?

101257𝑀𝑑→224 ∝+  ?

99253𝐸𝑠 + 24𝐻𝑒→01𝑛 +   ?

36𝐿𝑖 + 12𝐻→2 ?

23𝐻𝑒 +  ?  →47𝐵𝑒 + γ



Answers:

- fission01𝑛 + 92235𝑈 → 3790𝑅𝑏 + 2 01𝑛 +  55144𝐶𝑠

- fission01𝑛 + 92235𝑈 → 3890𝑆𝑟 + 4 01𝑛 +  54142𝑋𝑒

- fusion714𝑁 + 24𝐻𝑒 → 11𝐻 +  817𝑂

- fission88226𝑅𝑎 →  86222𝑅𝑛 +  24𝐻𝑒

- fission92233𝑈→ 90229𝑇ℎ + 24𝐻𝑒 

- fission101257𝑀𝑑→224 ∝+  97249𝐵𝑘

- fusion99253𝐸𝑠 + 24𝐻𝑒→01𝑛 +   101256𝑀𝑑

- fusion36𝐿𝑖 + 12𝐻→2 24𝐻𝑒

- fusion23𝐻𝑒 +  24𝐻𝑒 →47𝐵𝑒 + γ


